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[Aa—F] [Ba—H]
EiR N6BF 40kgl £ 1 m 8 1~2 EiR INSBF 37kgk i 851 EE 1
Eik F1BF 47kgR i 1 E 8 3~4 =ik NSEBF 37kgR i 28 2~9
EiR N6BF 40kglE 2 [m B 5~8 BEiR NeBF 40kgkK i =1 EE 10~12
Eik F1BF 47kgR i F2E & 9~12 =ik INSBF 37kgR i S 3E 13~16
EiR N6BF 40kgklE HERB 13~14 =ik NSEF 37kgbl L &1 EE 17~19
Eik f1kF 45kgkl £ RS 15~16 =ik N6 BF 40kgkKik 2 20~23
Eik F1B¥F 47kgR i HEiRES 17~18 =ik INSBF 37kgRi RS 24~25
EiR h18F 52kgK it ERB 19 EiR INSBF 37kelE =R 26~27
Bk  ®H2-3%KF  50kekiE HER 20~21 =ik N6EF 40kgk i R 28~29
#Eik  $2-3kF  50keblt ERB 22 EiR INSBF 37kegkRi R 30
#iR  $2-3BF  57keki ERB 23 EiR INSBF 37kelE SR 31
#iR  $2-3BF  57keblE ERB 24 EiR NeBF 40kgki& PR 32
EiR N6BTF 40kgkl L R 25 EiR h1BF 52kgl E R 33
EiR P1LF 45kgl £ R 26
Eik F18F 47keRK i R 27
Eik R18F 52kgX i R 28
#EiR  $2-3KF  50kekiE R 29
#EiR  $2-3kF  50kellt R 30
#iR $2-3BF  57kekil R 31
#ik  $2-3BF 57kellt R 32
[ca—F] [Da—F]
iR IMNBF 32kgR i E1EEH 1 =ik PEFH R 1
=ik INBF 30kgkl L 1@ 2~3 =EiR MEF =0l RE 2
iR INBF 32kgK i E2EE 4~7 =ik IN2BF wmE7 E1EE 3~4
=ik INBF 30kgkl L ERB 8~9 EiR INSBF 30kgF i 51 E8, 5~8
iR INZF 32kgkl E iR 10 =ik MBF wmE7 1 EE 9~10
iR INBF 32kgFK i iR 11~12 =ik IN2BF wmE7 E2[E 11~14
iR INIBF 30kgklE R 13 =ik IN3&F wmER 51 EE 15~16
iR INZF 32kgkl E R 14 =ik INIBF 3O0kgF il E2[E 17~20
=ik INMBF 32kgk R 15 =ik MBF =0l R 21~22
iR IMBF 32kghl E E1EE 16~17 =ik IN2BF wmE7 R 23~24
iR IMBF 32kghl E 28, 18~21 =ik IN3&F wmE7 R 25~26
iR INBF 32kgkl E iR 22 =ik INIBF 3O0kgF il R 27~28
=ik INSEF 35kgkKifh ERB 23 EiR MBF =0l R 29
iR IMBF 32kghl E iR 24 =ik IN2BF wmE7 R 30
iR INSTF 35kgkl £ iR 25~26 =ik IN3&F wmER R 31
EiR INEF 40kgkK i R 27~28 EiR M3BF 30kgk i R 32
EiR NBTF 32kgklE R 29 =ik NLF 32kgk i R 33
EiR INSEF 35kgkK il R 30
EiR INSEF 35kgklE R 31
EiR IN6RTF 40kgkK i REB 32
EiR h1LF 45kgR i R 33
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